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5. Mr, Andersen put $1000 intfo an account that earns 4.5% annual interest, The interest is Compo '!L
annually and there are no withdrawals. How much money wil be In the account at the end of 30 y oa.«vrr“
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6. A manufacturer pought a new rolling press for $48,000. It has depreciated in value at an annual rate of
15%. What is its value 5 years after purchase? Round 'ro the nearest hundred dollars.
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7. You place $900 in an investment account that earns 6% interest compounded confinuously. Find the:
palance after 5 years.
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| Graph each function as a transformation of its parent function. Identify the end behavior, asymptote,

| domain, and range. " A
f. 8. f(x) = 3x-1 9. f(x) = (22+2 10. f( =loga(x+1) XN\
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Asymptofe:: ® s =)
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Asymptofe: | = = ) Asymptote: | = 2

Domain: (- 6 | 52 )
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Solve each equation.

17.logs (x+ 1) =4)

"393L1:X4r|
.29 = X* |

19. Iogx+I092 S
\O%:rx \COOOL -

20. In x -

Nn4=7




